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Traince Name. 

Sign. Invigilator. 

8 

Note- All questions are compulsory. 

Trade Theory 
Sign. Examiner. 

Read and attempt all questions carefully. 

a) T 

rafu 
a) 50 f4e 
CA30 fe 

Question will be treated as wrong if answer is not clear. 

SECTION-A (TRADE THEORY) 

4. "PPE' 

1. A HHT hl ( Golden hour ) 6T 

c) qrf A' 
quf AT 

/20 

INTERNAL TEST2 (IT2) -DECEMBER 2023 

a) r faf 
c) frcrt fafr 

b) 40 fA4 

6. 1 fabd sy UR 
a) 48 aa 

Employability Skill 

d) 60 fre 

c) lT 

b) arf B' 

a) Personal Parfect equipment 
b)Personal Protective equipmet 
c) Personal Parfect effect 

DEORIA PRIVATE ITI 

d) af 'c: 

FITTER 1" YEAR SHIFT-2 

a) 3.00 mm b3175 mm 
c) 3.50 mm d) 25.40 mm 

d) ll 

b) 32 $a c) 24$4 d) 36j4 

b}iats fafr 

9 

Shift-. 

/20 WCS 

a) zAtMIEs heur 

a) as H�A{ 

a) 415s IT 

a) tft 
13, fAT 

a) r ar�u 

a) frr 3TA{ 

b) fT 
H-Ì aig 

La b) 31 ar 

a) 1 a 
c) HI^CS IT 

a) Ict f}H 

/20 

Roll No.....**.. 

b) h^AT 

ED 

b) q 

0453 

c) afT d) sifrsI 
E-JUIGA (Mass 

b) 

b) VIgY AI^H 
d) f arsu 

20 

c) d) à 

b) 6T f-Hà 



a) $HT H 2 kg 10 kg �Æ BIaI 
b) 34+ tuBT Á0 THTS 600 mm à 900 mm Bldtt 

a) H15eS ÍN 

yet a trb a0 

a) 10 mm 25 mm 

c) 16 mm 32 mm 

a) & 

a) 10 

c) fen 

b)_l2 

a) fir 

b) 8 

c) a sit b a 

b) aiftayH GU 

c)14 

d) *1R 3ATT 

b) 344T H 

b) 8 mm 32 mm 

tómm # 32 mm 

b) fer 

27. far ÀTI t sufara atar 
a) gaT 

d) 10 

d) 6 

b) fya 

a) 34T5t2 SIFU 

a) 44|41 t 

a) 50 

35 f aYÍE }AT hrýÍafaaf 

c) 60 

a) s 

. -75 

a) Fte fa 

.-100 ft. 
ft. 

a) 15 - 30 (mm) 
c)10-20 (mm) 

38. farft rT (Oil ways) HTe T F 

Furniture I A�Ad4 À. 
a) furnitures 

c) furniturez 

CPU 

b) fhfer4 ZIAU 

c) Monitor 

b) fr ts 
d) itzrts 

SECTION-B (EMPLLYABILITY SKILLS) 
41. The plural of the word Furniture. 

b)75 t. - 90 |-. 

Lb} t6 - 32 (mm) 
d) 12- 15 (mm) 

42. Which one is a brain of computer? 

b) furnituries 
furniture 

b) Keyboard 
d) Hard Disk 



VETI 

VEN' 43. Which onc is Not a vowel? 
a) a 

a) 10^ 

44. Which one is a cardinal number? 

a) Your house is beautiful 

45, Which one is an exclamatory sentence? 

b) It is a beautiful housc_ 

b) X 

c) s it a beautiful house? 

what a beautiful house it is! 

c)e 

46. Which one is not a Conjunction? 

a) Walk dI 

a) And b) Or c) But on 
47. Fill in the blank with Proper pronoun I made 

c) Red IT 

a) itself b) yourself himself d) myself 

Snapchat 
c) Indeed 

d)i 

yGoogle 

49. Which of these is not an online job search 
platform? 

c) Outlook Express 

a) Alt+s 

50. Which onc is a Web browser? 

c) Ctrl+N 

d) slowly ft sft 

b) LinkedIn 

d) V 

d) Glassdoor 

b) Hotmail 

51. Which shortcut is used to save a word file in 

MS office? 

d) Faccbook 

byCrl+S 
d) Ctrl+B 

52. Which device is uscd to connect telephone lines to a PC? 

a) Monitor 
SModem 

S3. In which orientation, the text is printed length 

a) Margin 
wise? faku frt2T4 

c) Width 

Facebook 
c) Lotus notes 

54. Which onc is a social nctworking site? 

is called a. 

b) Printer 
d) Modem 

a) Label 
c) Worksheet 

55. In Excel, the intersection of a row and column 

Landscape 
Portrait 

Excel fHtft f ) 3At Í4 (AEY ) 

b) Mozilla 
d) Outlook express 

uCell 

56. Which one is Not an article? 

aWi-Fi 

d) Square 

a) a b) the d) an 
57. Which one is the disadvantage of social 

a) Instant communication 
b) Access to information 

the internet is called. 

c) Munbai 

c) online marketing for business 
Make addictive t TGT ET 

AIda 
HHIt dE YI 

58. A wireless technology that connects a laptop to 

K f fay4 

b) Source network 
c) Bluetooth 

59. Which one of the following is a Actions word? 
AfefaaA Action word ? 
ySleep 

d) Desktop 

b) Agra c) Table d) Car 

60. Which of the following is not a naming word? 
a) Utar Pradesh bPlay 

d) Lucknow 

this cake. 

48. Which one is the naming word? networking sites? 



61. ye5 iA 
a) 4.1 A 

62. 250 F 
c) 4.50 f 

1a)21.1 

66. 

a) 1:2 

67. 

63. 10 952Ì 30 inch hT AT4 

L)41 

\3735.5 
64. a 3rT IE= 

65. a/26 t 
a) 0.3614 

a) 12:18 

5 
16 

8 

69.4+3; 

a) ½ 

71.1+ 

33 

1 

5 

2 

24 

32 
a) 3.0 b) 2.5 \oy2.0 

68. 18/16 fafar f. 

24 

SECTION-C (WCS) 

CÀ. 

4 

a) 1.120 

70. 6% à trac 

b) 125.1l c) 130.|| d) 120. I 

b) 750 

77. 1000 aTZ = 

78. 0.0025 
25 

b) 8:12 

10,000 

HTA 

c) 1.912 km 
76. 2.5 ug = 

b) 2 6 

) 0.3461 c) 0.3164 d) 0.1346 

75. 1 IT=.......... 

a) 1.821l km 

b) 1/5 

2 

a) 2 b)1/2 
72. 90, 45, 30, 7S aT LCM HH N 

a) 420 b) 430 
17 

4 

33 

5 

12 

a) 1 \b2 
74. 120°cF daei 

a) 250 F b248 °F 

b) 3:1 

a) 0.64 byí.34 

b) 4.24 

c) 650 d) 635.5 
att 

fg 

b1.134 

b) 

e) 2 

c) 6:9 

25 

c) 440 

)326 

yer� 

1000 

c) 4 

)52 

33 

by1.609 km 
d) 1.950 km 

fahun. 

24 

c) 238 °F 

c) 13.4 

c) 1.812 
H.P. 

c) 
25 

100 

() 2:3 

d) 1.5 

d) 4 

d) 1/25 

d) 4 

33 

d) 450 

d) 12 
24 

d) 240 °F 

d) 1.992 

d) 

d) 14.3 

25 

990 

79. 117°c 
la)390 

80. 10 inch 
a) 2.54 mm 

()254 mm 

a) 7 H b) 6 B 

a) As 

a) 4 H 

b) 290 
mm 

a) HB 

Kò 

SECTION- D (ENGINEERING DRAWING) 

a) HB 

a) afag b6 

a) B 

cY3 H d) H 

82. IS fafTgaT 3R 210 x 297 fuuit, rg 6T 

a) 5 B 

a) 4 H 

Ab2H 

c) 190 

b) HB 

gafu 

b)3H 

b) 25.4 mm 

b) 3 H c) 4 B 

b) B 

d) 2540 mm 

c) Ao 

c) 3t�ÍyTt 

c) 4H 

c) B 

c) 7H 

c) B 

c) 7B 

d) A, 

be HB 

d) 300 

d) 441 

***ALLTHE BEST*** 

d) 7B 

d) 6B 

d) B 

d) 8 H 

\d2H 

a) 3! 

fÌ 

73. 7A5 
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